Bellwork Alg2  Wednesday, March 6, 2019
1. One maid can clean a room in 20 minutes. Another maid can clean the same room in 24 minutes.
Find the exact amount of time it will take the two maids to clean the room together.
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4. For each rational function find all y-intercepts and equations of HA, if any.
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5. Simplify. State restrictions on the variable. 10x? +30x . _ 6x° +26x2 = 36x
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4. For each rational function find all y-intercepts and equations of HA, if any.
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5. Simplify. State restrictions on the variable.
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